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PHILOSOPHY — GENERAL
Paper : SEC-A-1 and SEC-A-2

Candidates are required to give their answers in their own words
as far as practicable.

Paper : SEC-A-1
(Logical Reasoning and Application : Indian and Western)

Full Marks : 80
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. Choose the correct option (any ten) :
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[English Version]
The figures in the margin indicate full marks.
1x10

(a) What is the operative relation (sannikarsa) for the perception of soundness?
(i) Samavaya (i) Samaveta-samavaya
() Samyoga (iv) Samyukta-samavaya.
(b) The ordinary operative relation (laukika sannikarsa) for the perception of the movement of a car,

is—
(1) Samyoga
(i) Samyukta-samavaya
(i) Samyukta-samaveta-samavaya
(iv) Samavaya.
(¢) The unconditional, invariable concomitance relation between hetu and sadhya is known as—
(i) Inherence (ii) Identity
(i) Vyapti (iv) Conjunction.
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On the basic of vyapri anumiti 1s of

(1) Three types (i) Five types
(iv) Four types.

d anvaya-vyatireki hetu?

() Two types

How many characteristics are there for a vali
(1) Four types (i) Five types

(i) Six types (iv) Two types.

“Ice is hot because it is an effect.”— What kind of fallacy (hetvabhasa) has been committed in the

mentioned argument?

() Asrayasiddha (i) Svarupasiddha

(i) Vadhita (iv) Viruddha.

The logical method generally used in scientific investigations is the—
(i) Deductive method (i) Inductive method

(i) Sceptical method (iv) None of these.

In law, the language which is commonly used, is—
(i) Informative (ii) Expressive
(i) Directive (iv) Emotive.

When we confuse the several meanings of a word or phrase (deliberately or accidentally) in the
context of an argument, we commit the fallacy of—

(i) Equivocation (i) Amphiboly
(i) Accent (iv) None of these.

“I know the file was important but I have lost it. Please forgive me because I belong to a very poor
family.”— It is an example of—

(i) The Argument Against the Person (Argument ad Hominem).
(i) The Appeal to Force (Argument ad Baculum)
(ii) The Appeal to Inappropriate Authority (Argument ad Verecundiam)
(iv) The Appeal to Pity (Argument ad Miscricordiam).
In law the “sine qua non rule” (without which not...) means—
(i) The law of Nature (ii) Hearsay rule
(ili) The causal rule (iv) None of these.

When testimony by a witness about some fact, is based on what some other person has said or
written, then it is known as—

(i) Proof (i) Hearsay

(i) Opinion (iv) Declaration.
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2. Answer bricfly any five of the following questions : 5%5
(a) Give an example of any inference (anumana), identify its paksa, sadhya and hetu.
(b) Distinguish, with example, between good and bad analogy.
(¢) Determine the distinction between kevalanvayi and kevalavyatireki anumiti with suitable examples.
(d) What are the different techniques of testing a scientific explanation? Discuss in brief.

(¢) What do you mean by the argument by Analogy? Test the following argument— both human beings
and cows are animals and both consume food, have growth and take part in reproduction. Human
beings are able to learn grammar. So, the cows too.

(f) Explain with an example the method of identifying the rules of Law, in the context of the Law of
libel.

(g) Briefly discuss the Appeal to Force (Argument ad Baculum).
(h) What is the role of probability in legal arguments?

3. Answer any three questions :

(a) What is meant by ordinary operative relation (laukika sannikarsa)? Discuss, with examples, each
of the ordinary operative relations admitted by the Naiyayikas. 3+12

(b) Explain the meaning of the three terms— ‘paksa’, ‘sapaksa’ and ‘vipaksa® with appropriate
examples. 15

(¢) Explain with examples, different types of hervabhasa as stated by the Nyaya school of Indian
Philosophy. 15
(d) What do you mean by fallacy of ambiguity? Discuss any two types of fallacy of ambiguity with
example. 5+(5+5)

(¢) What is fallacy? What do we mean by the fallacy of relevance? Give example. Explain in brief :
the Argument from Ignorance (Argument ad Ignoration), the Appeal to Inappropriate Authority
(Argument ad Verecundiam) and the Argument Against Person (Argument ad Hominem).

2+4+9
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